QA y = ax+3,y = bx-29] T BT A (1, 45 AL
,2(1 —J%IE O]’@?

£ 4

@D 3 @ 2 3 1 @ -3 G -4



® 5



Ty =2
I X+
10
wa.;l
= A

iy
Cs

Q]
=

3.

B!
TR

® Al 3AF

joul
T

@ A 24

B!
TR

@ Al 1A

uld

@ A 4 At



the 18T apgh4o] T ol it Ay
237] ke 729
5 o1 AT .

® xgtol T7HES= yatk S7Hetth

@ y=-2x+2° 15 y=YFog 2
g 8 o] ek e ot

® y=-3x+49 Iz o] T}
y=of 714t}




® y=2x+2

@ y=3x-2

®y=

® y=2x-3

x4 2

@ y=-2x+2



y = —2x+6 9 IH=Z7} x Z3t 9t
J2 B2t & o, AAOB 9] Yo7 22

W, e
rlo
O

yl\

»

@D 8 ® 9 ® 16 @ 18 ® 20









Oh& 1™ 2ol y = kx O L7} x S5 y = 4x O] Z1Z I Ato]o]

Q71 Itk < e -.4‘—‘?
yp y=4zx
y=kz
0 z
D o0<k<1 @ 0<k<3 ® 0<k<4

@ 0<k<4 B 0<k<5b



FAFy=x+4%%y=-x+4°] d3t y
Agor g2 e 729
C,

a, b

/ 0 N7z
@ a= -4 0|t}
@ c¢=4 o]t}
® b=4°|tt

@ AAT =G| Yol § o]t}

® y=—x+48y% PEORE BRI B y = x 44 9
T ImO} ¢ = Olof| 4] ThTh



11. o& % cdutyanel

3ol doigho] 3Kt 2442 Z19] |4=?
]

@ y=4x+1 © y=>5x-4

@yZ%x+4 @y:_gx_l

@ y=-x-5

D 17 @ 270

3 370 @ 470

® 57§






the 2R 2 AR 2z 78]
a, xAHS b, yBHS cH L T W, a—b + 9
@29

D -3 @ -2 ® -1
@




14. 5 AL x4y =4, 2x—3y = -4 O] T me} x 202 EaMel
T3 9] HolE Fotoiet.

=g
=¥



15

rO



16.

® y=-2x+5

@ y=2x+3



17.

T y=ax+b o AYPTE x Zo| vigFo g 31t
wa BYels o}ﬁﬂtmy——zx (CELE
oluf, & a— b 9 Fh= oteizt,






A 2AHEHE AUA] s A y =ax—4 7} Ut} o] &8y
ZoligFo 2 p Ut WYol5stH H (a, a) E Adrha T, o]
U7 A WA] e AFRHS Aoto] 2t

(G, o] gollA] x gho] 7 9hE WS off, y o] AHZE2 14 THE W5t



A2 ax—5y+b =0 9] 27t (3, 3) S AUl x AHo]
29 o, o + b ] F2?

@ 18 @ 27 ® 36 @ 45 ® 54



